HOMEWORK #4 SOLUTIONS
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       = P(Z ( (1.58) 


       = 1 ( P(Z ( 1.58)
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8-8   a) Since 
[image: image5.wmf]x

>185, we reject the null hypothesis and conclude that the mean foam height is greater than 175 mm.


b) P(
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 = P(Z > 2.37) = 1 ( P(Z ( 2.37)

   
   
 = 1 ( 0.99111

   
    
= 0.00889.


    The probability that a value of at least 190 mm would be observed (if the true mean height is 175 mm) is 
     only  0.00889.  Thus, the sample value of 
[image: image8.wmf]x

= 190 mm would be an unusual result.
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    Thus, 1.58 = 
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b) If the true mean foam height is 195 mm, then


     ( = P(

182.9 when ( = 195)
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        = 0.00776


c) For the same level of (, with the increased sample size, ( is reduced.

9-18
X ~ bin(10, 0.3) Implicitly, H0: p = 0.3 and H1: p < 0.3


n = 20


Accept region: 
[image: image12.wmf]1

.

0

ˆ

>

p

 


Reject region: 
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Use the normal approximation for parts a), b) and c):


a) When p =0.3 ( = 
[image: image14.wmf](
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b) When p = 0.2 ( =
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c) Power = 1 ( ( = 1 ( 0.7853 = 0.2147.  
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